Safety Dance - Men without Hats

(CD 80's New Wave Dance - Rebound Records #314 520 536-2)
Track # 11

Kellee Ramirez CCI - kelclogs34@gmail.com
with help from Marci Yaremko

Choreo:

Advanced - Line

Fast Tempo Dance Beat
Left Foot Lead

Sequence Wait 16 A, B, A, C, D, B, A, C, D, D, B, End

Part A (32 beats)

(8) Burton Skuffy Basic L DS HS | Hop | 18 | sk Slap S | Hop
R B | Sk Sap S | HS | Hop | Sk Slap S
+al e+ a2 e + a 3 e+ a4 e + a 5 e + a 6
Sk Slap S | S
Hop [ R
e + a 7 + 8
(8) Georgia Kicker L HS HS | Tap Kick [Tch (xif) Dbl| S Hop|H (split) Hop|H (xif) S
R H(w) R [Dbl S Hop| | Dbl [R (ots) [R (xib)
Hop
H Skuff  Slap S
(8) Get it Pull back K(xf) S H B | Hop | Tap Tch | Hop
with a twist Tap B | sk Slap S | Pullback | Dbl Bo (tw toe in)
+ 1 e + a 2 e + a 3 e +a 4 e +a 5
R | S | Tch
[H (tw toe out) s Dbl R
+ 6 + 7 + a 8
(4) 2 Buck Basics DB - HB HS - DB - HB HS
(4) Patter Toe Slide DS- HB HB-HB HB-BA SL
Part B (8 beats)
(8) Machine Gun L DS Toe S| | break| H | H Lift| DS | SL
R DS | Dbl S | SL|SL SL | | S
(4) Stomp Double L S DS S
(Backing up) R DS R
4) Triple L DS
(Full turn to the Right) R DS DS S
Part C (32 beats)
(8) Angel Toes L DS HS HS | Hop DS | TB | TB
R HL Flap R |Db| S | TB | TB BA SL
2 +al + a2 e + a3 e+ a 4 +a5 e+ ab e+ a7 + 8
(8) LCanadian Break L DS Hop Hop Brk | Hop () S | S | R
R Dbl Tch S (xb)| S | S | DS S
+al e+ a 2 + 3 + 4 + 5 + 6 +4a7 + 8
Part D (16 beats)
(8) Slur Sequence R |Slur s | DS S | | DS
H | DS | R | Pull’ (pull R foot back to L) S | DS
(8) Long Canadian L DS | Hop Hop Dbl S TB | Dbl |S(xf) Dbl Tch
R | Dbl Dbl TB Dbl | S(xf) | Dbl S | TB Hop
+al e+ a 2 + a3 e+ a 4 4+ a5 e+ a 6 e+ a’7 e+ a 8
End
(-2.5) Add a Twist L Hop R
R Dbl Bo (tw toe in) [H (tw toe out) S April-02
abbreviations (p) = pause Dbl = double HB = heel ball RS = rock step T =Toe
(ots) = out to side B = Ball Dr = drag HS = heel step S = step TB = toe ball
(xb) = cross in back Bo = Bounce DS = double toe step K = Kick SK = skuff Tch = touch
(xf) = cross in front Brk = Break (over to side) H = heel R = rock SL = slide TW = twist



